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log Ua = (logLo+ logVip)/2logM = —0,35,~Us7d9

log [ Uy Lo, Adaptation: A =557
557570

Threshold
S,=0,025

L 31 -1,1 00 0,9
( 500 555600




logarithmic U_-saturation u, = (\ — 555) / 50
Ua=(Lo'Mo)®® logLo = -0,350,~Us.J?
log Ua = (logLo+ logVip)/2logM = —0,35,~Us7d9
log [Lo/Ua Mo/Ua] Adaptation: A =557

1t 557570 Threshold
S4=0,025

+4-31 -1,1 00 0,9
( 500 555600




)

=-0,35p,-u 14

+log )Rlog =-0,350,-U::)?
Adaptation: A, =

Threshold
S,=0,025

+-31 -1,1 0,0 0,9




-saturation u, = (\ — 555) / 50

)05 logV,=-0,350,-u 13

+log )Rlog =-0,350,-U::)?
] Adaptation: A

/
Threshold

S4=0,025
log S=-1.49

+4-31 -1,1 00 0,9
( 500 555600




logarithmic ~ -data u, = (\ — 555) / 50

=( -Co)%° log =-0,35,-u.]2

=(log +logC.)/2 logC,=-0,35u,-u ]2
Adaptation: A =

Threshold
S,=0,025

+4-31 -1,1 00 0,9
( 500 555600




logarithmic ~ -saturation u, = (\ — 555) / 50
=( :C)% log =-0,35[,-u..]2
=(log +logC.)/2 logC,=-0,35u,-u ]2

] Adaptation: A =
Threshold

S4=0,025
log S=-1.49

+4-31 -1,1 00 0,9
( 500 555600




logarithmic  -data u, = (\ — 555) / 50
= (Co:lzly )25 logC,=-0,350,-u ]2

= (logCo+log - )/2 log - = —0,35[,~U.:]?
Adaptation: A

Threshold
S,=0,025




logarithmic ~ -saturation u, = (\ — 555) / 50
= (Co:lzly )25 logC,=-0,350,-u ]2
= (logCo+log - )/2 log - = —0,35[,~U.:]?

log [/ <, = [+ ] Adaptation: A =

1+ Threshold
S4=0,025
log S=-1.49

+4-31 -1,1 00 0,9
( 500 555600




